No NE=2=D\; AU AEX =3 =& = =ay! HID =AU Tt
18 2014-08-20 =52 FUtX B2 EHHA 6 1,248,000 = 2014-07-18
19 S5 FUtX B2 X 1 148,000 = 2014-07-18
20 S5 FUtX B2 X 1 159,000 = 2014-07-18
21 S5 FUtA B2 e=Ys/ DN 1 168,000 = 2014-07-18
22 S5 FUtA B2 e=Ys/ DN 6 948,000 = 2014-07-18
23 S5 FUtA gddtuAE e=Ys/ DN 22 3,256,000 = 2014-07-18
24 S5 FUtA gddtluAE e=Ys/ DN 6 1,008,000 = 2014-07-18
25 =5 FbtXA gddtuAE X 12 1,896,000 = 2014-07-18
26 =5 FbtA gddtuAE X 10 1,580,000 = 2014-07-18
27 =5 FbtXA gddtuAE X 32 6,016,000 = 2014-07-18
28 =5 FbtXA g2 X 1 158,000 = 2014-07-18
29 <5 FbtA g2 X 3 504,000 = 2014-07-18
30 =5 FbtXA g2 X 1 158,000 = 2014-07-18
31 =5 FHtX g2 X 1 168,000 = 2014-07-18
32 =5 FHtX g2 X 2 318,000 = 2014-07-18
33 =5 FHtX g2 X 4 632,000 = 2014-07-18
34 =5 FHtX g2 X 2 336,000 = 2014-07-18
35 =5 FHtX g2 X 4 556,000 = 2014-07-18
36 =5 FHtX g2 X 1 158,000 = 2014-07-18
37 =52 FHHX B2 EHHA 1 158,000 = 2014-07-18
38 2014-08-21 =52 FHHX CH=2 LA EHHA 10 1,580,000 = 2014-07-18
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